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Section 1.5 Algebraic identities

it Ix o+ 2 -4 = axt +bx rextd

than a=72
b=23
c=0
A=-4
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(Example1 )
LHS RHS
Find the values of @ and b given that (2x + a)?> = 4x? +12x +b, for all values of x.
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{ Example 2 )

LS RHS 1.
If 312%x — 3px + ¢ — 263 = 0 for all values of x, find T in terms of p.

LINEAR Exfression %% - ?px +c -2t =0

IDENTITY (3*-3p)X + (c-28%) =0x +0

X co.q-.-w..'cs = 361 L d 3P =0

t-p O 2 t=p
Coms bark | depms > c- 2% =0
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( Example 3 )
ple3 )}
Given = l)l(x =i (xi ) + (x€ %) for all values of x, find the values
LHs ok of A and B.
tep| = (x+)(%-2)
MkLTIﬂ-"] 6-1 Lep |(M‘f)(xzf—7 = ﬁ(m*-l).'_ B6t+|
(D (%72) G+ <§>
| = A(x-2) + B(x+)
I = AX-2A4 ¥ Rx +B
LINE pe [ = A+®)X + (B-2A)
ox+1 = (448) x +(B-24)
= o= Aa+p 1= RB-2A &
hA=-% (D
Sut @ who @ '=3—ﬂ-(—$)

LR S £ a8 3

I =3
&= /3 > A=k




	Page 1
	Page 2

